
BED PARTS ASSEMBLY GUIDE
72-85 DODGE SHORT UTILINE (STEPSIDE)

If you have not yet disassembled your original bed, make notes and sketches and lake pictures of part
locations to aid in the assernbly procedure. Use the following steps to assemble the entire bed te test fit
all parts.

1. Begin with one bedside and the front bed panel. Bolt the front bed panel flange to the outside of tt1e
bedside w,th (4) 5/16"~'18 x 3/4" indented hex washer head bolts. lock washers and nuts.

2. Install a 5/16" hex nut, lock washer and fiat washer on one end of the long steel threaded rod. Insert
the other end through the hole in the top of the bedside. The rod will pass through the front panel top
curl.

3. Align the loose end of the long rod to the other bedside and secure with a 5/16" flat washer, lock
washer, and nut. Finish bolting the front bed panel to the other bedside with the 5/16" hardware as in
step 1.

4. Fit the rear cross sill into the rear stake pockets that are part of the bedsides. The longer leg of the
rear cross sill should be facing toward the rear and the open side of the, ear sill s10uld be facing
toward the ground.

4. Bolt the rear sill in place using (8) 5/16"-18 x 3/4" indented hex washer head bolts, with lockwashers
and nuts as needed.

5. Once the four pieces of the bed are assembled, make sure the bed .is sqL:are. Measure from the
front of one bedside to the rear of other bedside in a crosswise pattern. Do this in both directions.
These measurements should be within 1/16" of each other.

6. Measure the bed width at the top and bottom of the bedsides to ensure that they are straight up and
down and are 54" apart on the inside where the wood attaches to the bedsides. Now tighten all
bolts.

7. Place the assembly horizontally on supports such as sawhorses to gain access to both the top and
bottom of the floor area.



Note: The following sequence of steps #8 through #11 are for locating and drilling of all holes needed in
thE' boards that attach to the bedsides. All holes should be drilled in the boards before any finish IS
applied. Use care to prevent the bare boards from getting dirty or greasy. Be sure the work surfaces
are clean and free of ad, and wear clean cotton gloves when handling the unfinished boards. Bolt
holes will be located by test assembling the bed and using the metal bed parts as a guide for marking
the l'1olelocations.

8. Install th~ long boardz with the wheel house cut-Qut under the
bedside flange. See figure 1. Leave approximately a 1/16" gap
between the bedside and wood board for expansion.This board
will rest on the front bed panel lower flange and the rear cross sill
ledge.

9. Mark the bedside angle hole locations on the long edge boards.
See figure 2. Be sure the edge boards are in the correct position
and they do not move as you mark the holes Use a pencil to
trace the square bolt holes in the bedside angles onto the top
surface of the edge boards. There should be a total of 9 holes
marked on each board.

10. Remove the long boards and dnll all the holes with a 3i8" drill. See
figure 3. Be sure to drill exactly in the center of each square
marked in step 9 above. Remove splinters and sand down the
rough edges around the holes. Minimize splinteritYJ by clanping a
scrap piece of wood under the board and drilling through the board
into the scrap wood.

11. Re-install the long edge boards. See figure 4. Use 5/16"-18 x 1
1/2" carriage bolts to connect them to the bedside angles. The
bolts pass through the bedside angles and the holes in the long
boards that were drilled in step 10. Leave the lock washers and
nuts off for now.

12. Install the front cross sill. This cross sill is a c-shaped channel with
large brackets on the bottom and installs with the open side fJcing
rearward. This cross sill attaches to the bedside angle strip at ..)."
from the front. This coincides with the second bed strip and angle
strip hole on the bedside

.

:J

""

.

'
'\

~. '~

I




